S 12B~14RBFDH A=RE-F—TOHBEEY B=#HRK -TAv/HiHEK
JEfz K4 BRRAUL | RERAUL | HRRAUL | R—FR
1 KIE & 96.00 80.00 16.00
2 RO 72.50 70.00 2.50
3 KIE = 62.50 60.00 2.50
4 /R ok 54.18 50.00 418
5 b B B4 X BR 45.00 15.00 30.00
6 |&H = 41.68 37.50 418
7 XRIL Kith 39.55 37.50 2.05
8 A HE 35.00 19.00 16.00
9 FAE 33.63 25.00 8.63
10 |[GlL ThE 30.77 30.00 0.77
1 |E HE 19.62 19.00 0.62
12 58 KX 16.18 12.00 4.18
13 |=iE A 16.12 15.00 1.12
14  |IpE @K 12.83 4.20 8.63
15 |FE = 11.98 7.80 418
16 | REFHUKER 10.77 9.65 1.12
17 /MR B 10.48 6.30 418
18 |2 X5 10.42 9.65 0.77
19 | KE BE 9.50 7.80 1.70
20 |;FKEZN 8.63 8.63
21 HH BELR 7.05 5.00 2.05
22 |[FEW =% 6.12 5.00 1.12
22 ([ KE 6.12 5.00 1.12
24 4% # 5.90 4.20 1.70
25 [IMNRE BX 5.77 5.00 0.77
26 INETE 487 4.20 0.67
27 |E B 4.85 2.80 2.05
28 |HH KB 452 3.40 1.12
29 ([ FoiE 4.32 3.80 0.52
30 | KH FERE 418 0.00 418
30 |mEE 418 418
32 He XK 417 3.40 0.77
33 ([EF EX 3.92 3.40 0.52
34 (Bl =K 3.52 3.00 0.52
3B Ky E 3.17 2.40 0.77
36 (2R &R 312 2.00 1.12
36 [luE & 3.12 2.00 1.12
38 (F X 3.02 2.40 0.62
39 |82 5k 2.82 2.40 0.42
40 T+ Rl 2.67 2.00 0.67
0 |BEEBEZLZ 2.67 2.00 0.67
42 |BAREAN 2.62 2.00 0.62
43  |¥EE =X 2.52 2.00 0.52
43  |{EiE KHE 2.52 2.00 0.52
43 Ik H 2.52 2.00 0.52
43 |BMHM B 2.52 2.00 0.52
43 |Bz = 2.52 2.00 0.52
48 |ZHR B2k 242 2.00 0.42
49 |B¥E =X 2.14 2.00 0.14
50 |FIE $hiE 2.05 2.05
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S 12B~14RBFDH A=RE-F—TOHBEEY B=#HRK -TAv/HiHEK
[=Livd K4 BRI | REBRAUL | BBRRA | R—FR
51 |[#ZE EX 1.70 1.70
52 |FTHY  BE 1.12 112
52 |[1HF R 1.12 1.12
52 [/INBIFG—ER 1.12 1.12
55 |EERk ¢ 0.77 0.77
55 |#H &5 0.77 0.77
55 |#K  =ZF 0.77 0.77
58 |{E@k Rt 0.67 0.67
58 T Foig 0.67 0.67
60 |EH 0% 0.62 0.62
60 |EK K 0.62 0.62
62 |#iBA BEZE 0.52 0.52
62 |RE I 0.52 0.52
62 | KA HEiE 0.52 0.52
62 |BF I 0.52 0.52
62 |ATF R&E 0.52 0.52
62 [BIU Xk 0.52 0.52
68 [IUA K 0.42 0.42
68 |EIL X 0.42 0.42
68 | E®F @i 0.42 042
68 | KIf F& 0.42 0.42
68 |FHFL BN 0.42 0.42
73 |#n K HEX 0.36 0.36
73 [IUTREER 0.36 0.36
73 |E¥ Z=FK 0.36 0.36
73 |EAREZE 0.36 0.36
73 |# EBEE 0.36 0.36
78 [IUE fE&E 0.30 0.30
78 |¥E K& 0.30 0.30
718 | HE 0.30 0.30
78 |NE BEK 0.30 0.30
78 |fAt B 0.30 0.30
78 |#AK HE 0.30 0.30
84 |fkHA FEth 0.23 0.23
84 |FHF B A 0.23 0.23
84 |ERKEFR 0.23 0.23
84 |[IUTFT FEIR 0.23 0.23
84 |LEMF FOAL 0.23 0.23
84 |k IEIE 0.23 0.23
84 |RJIl EE 0.23 0.23
84 |1t FRF 0.23 0.23
92 |thir &I 0.19 0.19
93 kT HAH 0.14 0.14
93 |#ER FHth 0.14 0.14
93 |ZER &K 0.14 0.14
93 [fRHE [E#E 0.14 0.14
93 |IUF FE 0.14 0.14
93 (AR KH 0.14 0.14
93 | EA fEnE 0.14 0.14
93 |#RAT EK 0.14 0.14
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Q12E~14RBFDER A=RE-F—TOHBEEY B=#HRK -TAv/HiHEK
JEfz K4 BRRAUL | RERAUL | HRRAUL | R—FR
101 |5 BF 0.10 0.10
101 |EaiR KEH 0.10 0.10
101 |E7k EBkE 0.10 0.10
101 |/ngkE K% 0.10 0.10
101 |0 ZEA 0.10 0.10
101 |[AHF 28 0.10 0.10
101 [FH =2 0.10 0.10
101 |E8 HEX 0.10 0.10
101 |FKR B 0.10 0.10
101 | KIE 0.10 0.10
101 |h$ FiE 0.10 0.10
101 | BF 1LE 0.10 0.10
101 |IEARFE—ER 0.10 0.10
101 |8RE FA[5 0.10 0.10
101 |k EE 0.10 0.10
101 |%ER EX 0.10 0.10
101 |7\t il 0.10 0.10
101 |/{E £35) 0.10 0.10
101 |REY ¥REB 0.10 0.10
101 |ilREF B2 0.10 0.10
101 |EY =F 0.10 0.10
101 |&EFg &3k 0.10 0.10
101 |JIIFR E%RE 0.10 0.10
101 |#fE =EiIEB 0.10 0.10
101 |dbkE #HX 0.10 0.10
101 |EfE B4 0.10 0.10
101 |FHH ZEft 0.10 0.10
101 |([FHE B3} 0.10 0.10
101 |/fk ESE 0.10 0.10
101 [;Edh $4E 0.10 0.10
101 |#E K 0.10 0.10
101 |ILO#—FBd 0.10 0.10
101 ||iE %E 0.10 0.10
101 [JE0 5k 0.10 0.10
101 |/ &3 0.10 0.10
101 |BH 1§ 0.10 0.10
101 |AWE/ N 0.10 0.10
101 |EMt EFE 0.10 0.10
101 |[{EBRELER 0.10 0.10
101 [E&I B 0.10 0.10
101 |[EEBBREIEAT 0.10 0.10
101 |+ EE 0.10 0.10
101 |ikiE PE 0.10 0.10
101 |@&)Il #8A 0.10 0.10
101 |8 EE 0.10 0.10
101 |ThIR Yt#h 0.10 0.10
101 |JEH #4E 0.10 0.10
101 |&RBF K 0.10 0.10
101 |E94E e 0.10 0.10
101 [&FIEZST 0.10 0.10
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S 12B~14RBFDH A=RE-F—TOHBEEY B=#HRK -TAv/HiHEK
JEfz K4 BRI | REBRAUL | BBRRA | R—FR
101 |fMf BZ 0.10 0.10
101 |FHFE TH= 0.10 0.10
101 |4 K= 0.10 0.10
101 |FfAR £ 0.10 0.10
101 [FATHE ISR Bk 0.10 0.10
101 | KiE N+ 0.10 0.10
101 |HE K 0.10 0.10
101 |ILUA K& 0.10 0.10
101 |[f53FF KER 0.10 0.10
101 |&F = 0.10 0.10
101 |IUF Rt 0.10 0.10
101 |%% &t 0.10 0.10
101 [ARER HZE 0.10 0.10
101 (FH_EHAKEA 0.10 0.10
101 |E=EWL FE 0.10 0.10
101 |ILigy &4 0.10 0.10
101 | K#E KkER 0.10 0.10
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